Code - 27110
‘ sistance of o4
: ooV Shuant mejorx hO\Vlhg Oy meottre we s)

X 0
and, shunt field resistance of 10001 dyviveg qlead alb 500
taking 23 A, T+ Ts desived +o vun 4o motos af Foovpm,

As;suwu‘ng “‘Hae [cmd 'l-o‘\s'que +o be Const’qrd-, -P—mo] Hie Value

OP'WSTsfqnce, to be used as Peld m_c;udcuft)‘?s’, Hf‘,ﬂf&CE" < odun
effect.

Se)r - ,
passiae<ty InHal condiMons Nj= 800 vpm ; T, =2F A : Tst,, e S s 2

(o
.Iq’: IL“IQL,, =29-2 = 25 A,
Ep = 200-2% X0'4 = |gp 1/,
Final conditions: .
Eba= V.- Ta,Rq = 200 — O4 qu
As the |oad forque < Constaru
d’ijm - 4)7.-Tc12__ Ruwlk <1> X T,
Tl ISL” IQI = ISHQ-IGZ_
e :ISH?.: +s1, Ta, - szg: Seo
qu Tq qu_
Now, Nt _ B Tspe
Nz = e, sy,
S Bso | 90 = @0/1_612_)
Foo 200-0'4T4 o
. s T ‘
-+ dg, - 500 Iq, T 16625 =0,
Adte go\vixﬁ Fis equation , +a,=13g p
“r Loy, = Sof1g, = Sofag = 1434

;. Reho= V/Igy, = 200/145 = 129.86v.

" Field Rheoctede ~wesictance =\29.86~ |00
. = 2926 N .
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@' 4 by A 20hp, 220V Shurd motor takec a Full - [pad cuyrend¢
BL A, speed locexpm, axmetise vesisfance o) JL, Shunt
field wecfetance (o2 It Tsto be bvaked by plugging,

wWhat wesfetance must be placed o sevies to [imit Hhe
cuxYerr o 120 A % Hind alse the fnitHal Vadue of Hae

bwaking tewque |
Lo
‘:feld Cu“n't’_rd‘J I$]q:' 22 © - 2/_\,'
1o
SR - foad awmature Cuyvent- To=T, - Tcn=82-2=80A

ELs V-Jdabaz 220 FOX O
= 2|2 Vvoltrs.

Voltege aqcoyoss avmatuse when bvakiing = v+E,

= 2.2 07 212
= 432 volts,

——

S Toted wesistance mquu‘reo’ t© limik cuvrend- to 12-0A.

= 432
282 3.6
2.0 _§._.=—_—_.-

Resistance <o be added = 2.4 — o1 =399
Ful load tovque = q.s5 y Oubpuds
N

= 9.6§¢ % 20% 746

[0 B sl

S Twibe] B”mk"ﬂj torque = ";j‘; X 1426 = 2138 Nm
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@5 I;} A Freld's Test on two sfmilar semes machines gave the
followding deda
Motox : avimatuye cuvrertt = GOA-.
Voltage agyoss aymatuse = GooV.
Voltage acwoss field = 4oV,
Genersoloy: Tewsmina) Voltage = 460 V.
O wrpou cuyywent = 46 A.

voltage acaoss field = 40V.
A‘smod”u'rt ve sistance ¢ hcluding byyshesd of =ach mackhin
6 0250 . Calcdate. e-P—PncmenCy of both machines.

w oo
Ef_\___ ‘ Powoer f’r)Pu—l“ +to the whole ceb = (Boot+40+ 40) (60)

= 84, Ge0 W
Genewador odrpult = 460 X 44 = Q_o TI—oow
=0y TR 00

' Toted |oeces Sn He wohole set = 34 800 -20,7c0
= |4 100 W

ted Shmu < —
“Te anmic |eBtes —(geVuoin s 4 €o (4o t40) +(4—6)%<0'25

= 6230 W
—

""No Load notetional (ecc of eacih maclune

14,100 - 6280 _ 3935w

— o= 2335 W

. Motoy P g T’nPu.F: (Sec+ 40)(60) = 32 400 walls

\J

Moted meotow (0eses = Avmataye ciccuit Joss + Field
civeed| loss + No - [oad voredional lo

— 2
= (60) %625 + 606X 40 4 393G = F23GV

. - B 2395
motoex E‘F«F\cwn(’\j : 1?'“__ Cl — mo)xloo = A49-6gY,

lote SeneTaJ’O?S‘ losses = Armeduxe CivcusE [0s< .

Field ciycuwt loss +'N0~Loa(7’
YotaHowned (o0cs

':*(4'6)9_(0*2‘5)-—% 60 ¥ &n L Ran @
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wubF= 20, Foo t 6865
Ge nesator Top — .
= 279,005 w

249,005
= Fdqd

(reneryefor QH:im-enfj ,13 (l 6866) 5 (o



6 De:l*&-’a"m-;hc: e sfc—lb angle of Vavabie —yeluctance
e SRR Fr e wWith |12 teebie 1n the staloy & | wotovted

e | ~

Numbe~w of statow teeblh No= |2
MUmbe‘o" D’{\_ '?'D{‘DY,{"E@"") Ny = 8

‘e Shep angle , & = Ns=Ny _gz40
Ns'N'y
= (jzr 87

2 X &
= 'S—D/St‘ﬂf?

X 360°
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